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Fifth Paper = = 1 frefeRea org ok Al & 3R -4 10=40
(raafas Fifea) ; ; Answer the following short answer questions:
(Business Statistics) g § A E L Frerfiem ot Wity st we?
T ¢ 3 R oo 100 & & BT Wfea IR Al
Fime : Three Hours Maximum Marks : 100 -:g -:g o T 3000 Rardl, 100 3wAE T4l 500
e« et dia e & IR A 40 it @ AT = 5 b
e i - < R 15 37 @ % % Would you call the following statistical

data? Give answer with reasons.

COED I & ‘There are 3000 students, 100 teach-
Note: Answer five questions in all. Short answer ers and 500 trees in a village'
type Question No.1 carrying 40 marks is jo fyaroner® ta Frauiare FiRkEe # amR
e dewl -

compulsory. Answer ene question carry-
Differentiate between descriptive and

ing 15 marks from each unit,
inferential statistics.
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(iv) gfe & S5 T T < T 24§ T I
. ¥ )
:é:'\\m‘egl:‘:{:‘-f\. ,}L:"‘%‘:‘\.‘ \..'ILE_[t

If the arithmetic mean of two numbers

is 34 and therr geomatric ma3an is 10,

find the numbers.

}w) %ﬁ:ﬁff:‘@ﬂﬁ’lﬁ* gz e |
5 woR = 29

Define skewness. How does

from dispersion?
(vi) B Fiigel @ SR D S DISTE -

Calculate thirty-sixth percentile from the

following data:
33, 22, 55, 47, 21, 68, 49, 40, 33, 38,

42, 48, 52, 37
(vii) af? SRS Wea YL 4.5 RIS & Er R
121 8 A R P F1d Bl
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If the mode is more than mean by 4.5

and the variance is 121, find coefficient

of skewness.

mﬁmﬁﬁﬂﬁaﬁ%ﬂlwmﬂ

g TR e 87

Define regression. How does it differ

from correlation?

ST & T Wued @ et

Write the main components of time se-
ries.

Straior 3R QeI § @ 3R 8
What is difference between interpola-

&)

tion and extrapolation?
goE-wum / Unit-I 15

Z mﬁmw%ﬁﬂmmﬂﬁﬂﬁwwm

Hize| Rdas wwe & 719 Gt @1 aof Hf
Define and distinguish between primary and

secondary data. Discuss the important

sources of secondary data.

4

http://www.mgkvponline.com

wod-duuodayduwrmmm,/dny



[¥5]

http://www.mgkvponline.com

19/1304
Fgar [ OR
) oy —— % — - . .
fmemmgn Hms @ FRIcRIIY o oot n@idl A
e g _ - -
TTTET ® T © v6 4a 7] U g9 €U

&“‘" ! ,
T3 §se: http://www.mgkvponline.com
Following data relates to the number of stu-

dents in four faculties of a college. Construct

a Multiple Bar Diagram:
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TT@ Faculty
L E%2-93 1993-94}1994-95 1995-96
& (Arts) 800 750

= (Science)
aforsag (Commerce) 600 | 750 | 950 | 1,200

5% &7 (Home Science) | 250 220

w T S0 (Number of Stucants |

750 650 700

700 780 850 850

200 150

soR-fada / Unit-11 15

Y qarq Tame A aar A &2 g fewem @

o & 1 5 &7 9 A, 2 e o
CroceasiaE
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x  Whatis concept of standard deviation? How

is standard deviation calculated? Discuss its

merit, demerit and utility.
3@l OR
5. P dad smgh feRor & g qor YRrSs d
i

Find mean and mode for the following cu-
mulative frequency distribution:

376 9 DA

(Marks less than) {1020 30 40|sole0(70}80|90|100
w@rAl & Tl

(No. of Students)- 3 |8415]25 37152|64{70}|/2 80~

goR-gard / Unit-111 15

6. faagd BIc-3=R ey gy RefeRaa sriasT @
Calculate coefficient of correlation from the ..
following data by Spearman's rank difference
method: | IEATEE ;

[ & dwa (3)

(price of Tea %) |[75(8&{95]70 60 | 80|81 |50

| (PIeE

oo @b v (3)

(Price of Coffee T) 1120 130[150{115 |110|140{1421100

| —
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4 f OR

“Frdere e RIMeR 217 3 HUF ©F AREN
ot aun Fréeiel @ Iuafiar adgel Fdwn®
AT # & ¢ A a1 aHEnige|

"Index number is an ecocnomic barometer.”
comment on this statement and explain the
utility of index numbers. What main points
should be taken into consideration while con-

structing index numbers.

soré-agel / Unit-1v 15
fr=rfeRag arRol @ SETar & 99 1991 v 1993 &
e 3RS &1 FgAA TR

| Estimaté the production for 1991 and 1993

from the following table:

ﬁt’f (Year)

1989(1990 {1991/ 1992 |1993}|1994

-

1988

Fara - -

(Production) | 200 | 220

260 | 7 350 | ? 1430

7 P.T.O.
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BT SO g FHIer Son {9 HF We '
A THET| 39 YR & (9Tl & AR A
e shia Sifaw 7
Explain clearly the meaning of time se-
ries and time series analysis. Indicate
the importance of such analysis in Busi-

ness.

e Y aaT &2 R e

& I aen 3yahfiEr @ aofF Hifsel 7.

What is business forecasting? Discuss
the limitations and utility of business

forecasting.
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